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11(a)

class building {
public:
int x coord;
int y coord;
string name;
BuildingType btype;
int unig_id;

};

building indata[DATASIZE];

(b)

void map insert(building); // add a building to the map

int build map () {
int i;
for (i = 0; i1 < DATASIZE; i++) |
indatafi] .unig_id = next id():;
map insert (indata[i]):
}

return (0);

12(a) myfunc searches to see if the value val is equal to any of the bottom four bytes in any
of the integers in the array data, of length ndata, and returns the number of integers
containing a matching byte. The outer loop scans through the integers in the array. The inner
loop scans through the four bytes in the integer. The way in which found and nfound are
used ensures that if an integer contains two matching bytes, only one is counted.

(b) The algorithm is O(N). (The inner loop does not depend on N.)
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